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Three production systems have the following cost structure

production system fixed cost per Year Variable Cost per Unit
A 100,000 2
B 50,000 4
C 30,000 5

(1) Determine the total costs of each System for a volume of 21,000 unites per
year and what is the system for this production volume ?

(2) Graphically represent the annual costs of three systems (Y axis) vs. the
annual volume (X axis)
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Briefly discuss how the Mean Absolute Deviation (MAD) can be used to compare

different forecasting methods.
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Briefly discuss the benefits of "postponement’.
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The final assembly of a specified manufacturer requires a total of 12 tasks. The job
times and precedence relationship for this particular assembly is given in the
following table. Suppose that the company is willing to hire enough workers {0
produce one assembled machine every 16 minutes.

Immediate

(1)Determine positional weights for each Task ooy Time
of the tasks. (5 %) T : effssors D
(2) What is the minimum number of g ; 2
stations that could be achieved?  (5%) 4 2 2
(3)Find the balance obtained using the 2 3 12 5
ranked positional weight technique. 7 3,4 7
(5 %) 8 7 5
9 5 1
(4)What is the efficiency of the balanced 10 9,6 4
obtained? (5 %) 11 8,10 6
12 11 7
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A furniture company uses exponential smoothing with trend to forecast monthly sales
of its special mattress. At the end of May the company wants t0 forecast sales for June.
The trend through April has been 10 additional boxes sold per month, Average sales
have been 60 boxes per month. The demand for May was 68 boxes. The company uses
a=0.1 and 8= 0.2. Make a forecast including trend for the month of June.
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